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CONCEPT 4     

 

DISPLACEMENT REACTIONS 

 
NOTES 

The reactivity series allows us to predict how a metal will react. A more reactive 

metal will displace a less reactive metal from a compound.  

 
Displacement reactions occur when a more reactive metal is placed in the 
solution of a less reactive metal salt solution. The difference in reactivity of the 
two metals will determine how quickly the reaction happens but the general 
observations for one of these reactions would be: 
 
The more reactive metal gradually disappears as it forms a solution and the less 
reactive metal coats the surface of the more reactive metal. 
 
For example, when magnesium is placed into a solution of copper sulphate 
(salt.) the observer would start to see a colour change. Copper sulphate has a 
blue colour; this colour begins to fade as it is replaced by magnesium sulphate 
which is colourless. As this progresses the observer will start to see a brown 
solid depositing onto the surface of the magnesium, this is solid copper forming 
because the magnesium has taken the sulphate from it. The word equation for 
this reaction would look like this: 
 
Magnesium(s) + Copper sulphate(aq)           Magnesium sulphate(aq) + Copper(s) 

 
The letters in brackets in the equation are called state symbols, these symbols 
tell us what state the substance is in before and after the reaction.  
(s) = Solid 
(l) = Liquid 
(g) = Gas 
(aq) = aqueous solution (dissolved in water) 
 
All displacement reactions can be predicted by looking at the reactivity series  
and comparing the reactivity of the metals involved in the reactions.  
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